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On May 28th, the Treasury produced its report “Scotland analysis: Fiscal policy and sustainability” on the size of the union dividend which every Scot, it claimed, received as part of the UK. According to the Treasury, over the next twenty years, every man, woman, and child would be £1,400 better off each year for staying in the union.

In a paper published by “Options for Scotland” on 14th August, (available on our website www.jamcuthbert.co.uk ), we examine a number of aspects of the Treasury’s calculation of its “union dividend”. We identify a number of significant failings in the Treasury report: one example is the Treasury’s failure to adequately monitor the financial implications of continuing devolution, as we now explain. 

The major division in public expenditure is between the Departmental Expenditure Limit (DEL) and Annually managed Expenditure. Essentially, in Scotland, the DEL covers that spending over which the Scottish government has control. Currently, about half of public expenditure in Scotland falls within Scotland’s DEL. Under continued devolution, the size of the DEL is in itself primarily determined, not by the decisions of the Scottish government, but by the Barnett formula. This will be slightly less true after the implementation of the Calman tax proposals under the Scotland Act: but since the 10p income tax rate which a Scottish government will control under Calman will only represent about £4 billion out of a DEL of about £28 billion, it is still true that Barnett will dominate variations in the DEL.

Two main factors affect the workings of Barnett: DEL growth in England and relative population growth. If nominal expenditure is growing in England on matters such as health, education, etc., (in other words, matters that in Scotland are covered by the DEL), then, other things being equal, Barnett would eventually bring about convergence to equality between Scottish and English spending levels per head on devolved services. But if population in England is growing relative to Scotland, (as it is), then this too will affect per capita spending levels in the two countries. The interaction between these two factors, (that is, the Barnett formula combined with relative population growth), in fact gives rise to complicated effects on relative spending levels per head between Scotland and England. The relevant algebra describing the interaction is set out in Cuthbert, J.R., (2001). But the important points are:

a)
If expenditure growth in England is high compared with the rate of relative population growth, then levels of DEL per head in Scotland will be pushed down through time relative to DEL on devolved services per head in England: this is the familiar “Barnett squeeze”.

b)
But if, on the other hand, nominal expenditure growth in England is low compared to the relative rate of population growth then there will be Barnett expansion: that is, DEL per head in Scotland will increase compared to DEL per head in England. 

In its paper, the Treasury makes relatively optimistic assumptions about UK growth, (2.2% per head per annum in real terms), and also assumes inflation will be 2.2% per annum. Together with the Treasury’s assumptions on population growth, this puts us firmly into the “Barnett squeeze” category above. But since the Treasury paper does not model the way the Scottish government is actually funded under devolution, it completely misses the significant reduction this will make in the Treasury calculation of the union dividend.

The situation is, however, even worse than this. In the very likely case of continued austerity, then we would fall into the “Barnett expansion” category above: that is, the Barnett formula would mechanistically deliver increasing levels of per capita expenditure on devolved services to Scotland relative to England. In the face of universal austerity in the UK, this would make the continuation of Barnett politically impossible. 

Either way, Scotland loses. But the Treasury paper misses all of these implications – because of its failure to model the way the Scottish government would actually be funded under continuing devolution: and because of its failure to take into account downside risks to UK economic performance.

Other failings in the Treasury paper include:- 

· The Treasury imply that extra costs associated with Scotland’s relatively ageing population will be covered under the union. However, the funding model for the devolved Scottish government has no mechanism for making provision for that significant element of such costs which would fall upon the Scottish DEL.

· The Treasury fail to take account of the implications of quantitative easing both for the interest payments falling on the Scottish budget, and for the debt sharing negotiations with an independent Scotland.

· The Treasury calculations also fail to allow for the adverse effects which are, in effect, baked into the UK baseline from which the Treasury attempt to measure their “union dividend”: adverse effects such as having successive Conservative governments whom we have not voted for: the fact that Scotland has to take on board, without any option, divisive UK policies in areas like social security: and Scotland’s lack of direct representation in vital negotiations, e.g., those on the common agricultural policy.

· And then there is the question of the assumptions that the Treasury made about the independence scenario - in areas like start-up costs, oil, and debt. While it is not the primary purpose of our paper to go into these areas in detail, there are good grounds for believing that the Treasury have chosen to be unduly pessimistic.

So where does this leave us on the overall “union dividend”? Is it just a question of reducing the Treasury’s assessed dividend in relation to those technical mistakes that we have identified and which can be quantified?  Absolutely not. What we argue is that the whole concept of a single figure “union dividend” is nonsense and must be abandoned. The decision that the Scottish people will take on independence involves many factors. To try to boil that decision down to a single monetary amount is basically meaningless: and when the method adopted essentially assumes away all the risks and costs attaching to staying in the union the result is not merely meaningless, it is intrinsically biased. When the Treasury produced their results, their use of children’s lego men to explain their findings to the simple minded Scots was widely, and rightly, seen as insulting. In fact, the real insult was not in the use of lego men to present the results: but in the fact that the Treasury adopted a flawed and biased methodology in the first place.
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